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MKt HelH7] (cm)| Kag L27|7] (91%) | 10m =227 (X) |Kag 222 #3|7| (cm)
235 Of4 70 0|4 9.5 O[a} 33 0|4
233 ~ 234 69 9.6 ~9.7 32.56 ~ 32.9
231 ~ 232 68 9.8 ~99 32.0 ~ 32.4
229 ~ 230 67 10.0 ~ 10.1 31.5 ~ 31.9
227 ~ 228 66 10.2 ~ 10.3 31.0 ~ 314
225 ~ 226 65 10.4 ~ 10.5 30.5 ~ 30.9
223 ~ 224 64 10.6 ~ 10.7 30.0 ~ 30.4
221 ~ 222 63 10.8 ~ 10.9 29.5 ~ 29.9
219 ~ 220 62 11.0 ~ 1.1 29.0 ~ 29.4
217 ~ 218 61 11.2 ~ 113 28.5 ~ 28.9
215 ~ 216 60 114~ 115 28.0 ~ 28.4
213 ~ 214 59 1.6 ~ 117 27.5 ~ 27.9
211 ~ 212 58 11.8 ~ 11.9 27.0 ~ 27.4
209 ~ 210 57 12.0 ~ 12.1 26.5 ~ 26.9
207 ~ 208 56 12.2 ~ 12.3 26.0 ~ 26.4
205 ~ 206 55 124 ~ 125 255 ~ 25.9
9 203 ~ 204 54 126 ~ 127 25.0 ~ 25.4
8 201 ~ 202 53 128 ~ 129 245 ~ 24.9
7 199 ~ 200 52 13.0 ~ 13.1 24.0 ~ 24.4
6 197 ~ 198 51 13.2 ~ 133 23.5 ~ 23.9
5 195 ~ 196 50 134 ~ 135 23.0 ~ 23.4
4 193 ~ 194 49 13.6 ~ 13.7 22.5 ~ 229
3 191 ~ 192 48 13.8 ~ 13.9 22.0 ~ 22.4
2 189 ~ 190 47 14.0 ~ 14.1 215 ~ 21.9
187 ~ 188 46 142 ~ 143 21.0 ~ 21.4
186 Olof 45 Ofot 14.4 Ok 20.9 Olo}
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